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N.B. .— (@) Attempt all questions.

(i1) All questions are of equal marks.
(zi1)  Calculator is permitted.
() W& ¥ Hedu AeRdE o8
(i) & YA HWEE O SR
(i) TIOR3
1. What is meaning of extrapolation ? Explain the importance of

extrapolation. 10
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The table below gives the wheat production of different years in India and
the probable production of the year 1984 :
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Year ad 1980 | 1982 | 1984 | 1986 | 1988 |1990
Production (in tons) : 35 80 — 140 250 340
3deT (27)

What is meaning of matrix ? Explain the types of matrix. 10
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Find inverse of the following matrix :
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Explain any two features of matrix with suitable example. 10
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Solve the following simultaneous equations with the help of the

matrix :
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x+y=6and x — 4y =3

X114Y 125FE1X114Y 125FE1X 114Y 125FE1X 114Y 125FE1



WT

( 3 ) YC—52—

What is indices ? Explain the importance of indices in Economics.
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Find the partial derivatives of the given following equations :
wreitel fooean wHtewTo=n ST fasherst sl -
@ Z = X3 + 3x2y — 5y2 4+ 23
@) Z =5X% + XY + 3Y?
Write short notes on (any two) :
(@) Interpolation
b) Uses of derivative in Economics

(e) Find determinant :

5 2 -3
A=|1 4 2
3 0 8

(d)  Simplify :

(9—3 < 163/2)1/6
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(@)  STaesH

(b) NS faemasa SYE

() frufter e
5 2 -3
A=|1 4 2
3 0 8
(d) rea
(9—3 % 163/2)1/6
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